Working with NumPy
oS WG U2 3meid

soIditcal Ufdrcdst dbelr -12

31EAIT -1
SIRIL
M Y a\YaY

TolldDIR 1815 (JA-TVUIDh fdsiIol )
dbo fdo aRIddb] (613 HAHIeI)




NumPy Arrays

Pandas # structure aT¢ ®§ S99 & 98«1 NumPy arrays &I ¥HT «d g |

A -

1. Pandas & F= %9 NumPy array & &9 § 37947 T0TH d 3 |

2. 7% data structure & |T T id [E3MA ST <1

NumPy (“Numerical Python” T Numeric Python”) 9T 9TS9¥ =T T#% open
source module g ST arrays 3T matrices 9T oS O HFTT &I FHedl

el

NumPy FIITRT i3 o o0 29 import AT gidl %l rSTerhT statement 5 €

>>>mport numpy as np >>>
= >

(Z9H np, numpy T =18 § I& TR ST =TT A7 (s~

rt numpy a5 np
lst = [1,2,3,4]
al= np.array[lst}

ST AT ST BT € ) >>> 1st
NumPy arrays 2 €91 Hglar g - [1, 2, 3, 4le—_
« 1-Darray - :[’?’Zpglg]ﬁ (al)
=9 Vectors & TH & AT ST 3 | s> al top
 Multidimentional arrays — array ([1, 2, 3, 41)
3% 7 Matrices F A s &
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NumPy Arrays 91H Python Lists

T2t NumPy array, Python List Si® &t data &7 store F¥d g 3i¥
list % ST&r BT array ¥ STl &l access Wl F¥d g THe T NumPy
array, 919 list § T BId & | 370 1o § HEAT Fa< M g —

T 1€ NumPy array ¥ size MATRT ®T AT T 3T 9 d&4
el Tohd | T4 [oTU TRl JT QT 947 array AT g0 AT =9
array ®I 90 array § overwrite FTAT T, Taieh list § UHT gl
BT |

NumPy array ® 9T< elements T& ¥ g i AT2U JIATd Tk
T % datatype @ gf, State list § UHT A5l giar |

T NumPy array, Python list st 9T | FH SHTE =LAl ¢ |

NumPy array, Vectorized operation & ¥q1¢ FZdT g AAd Teh
T element FAATT STt list I7 list ¥ list & THAT F51 3rd7]

Traceback (most recent

>>> numpy np

>>> 1st=[1, 2,3, 4]
>>> al=np.array(lst) H list error ¢ c >>> g1+2

>>> 1st+2 arrayﬁﬁm@?ﬂ| array ([3, 4, 5, 6])

File "<pyshell#4>", ] - P, 3o fo .




NumPy Data Types

NumPy 91 T1< & data types =T su




\

NumPy Arrays 9T & i
1. array() function =T TIRT array I9TH % o FhaT SITaT ¢-

numpy.array(<arrayconvertible object>,[<datatype>])

*Tg JTT HL FAd g % humpy &I np = 919 F import a1 T g .
>>> 1mport numpy as np
>>> narl=np.array([2,5.2,1.0])

>>> narl

array([2. , 5.2, 1. 1)

>>>
SUUE FIE FH FF FGMT

* nar1 U% ndarray object & &9 § T 1

« narl ¥ 3 element 217 (ST T list § pass TRTr 1T € ).

« ndarray % elements &1 U datatype T &0 g1 STTAAIT ST default 1T | 319
dtype argument T YT FLh 97 datatype T &0 FT T4 ¢ |

- Elements # datatype & ITHTY elements FT size W [Haiia gr ST |
Hollg HGIRAT, o fdo TRTEHT



=94 = datatype & 91T array SHTHT

>>> 1=[1,2,3,4]

>>> ar=np.array(l,dtype=np.intc4)
>>> ar

array([1, 2, 3, 4], dtype=intcd)
>>>

type, dtype 3T size =t ST -

>>> 1=[1,2,3,4]

>>> ar=np.array(l,dtype=np.intc4)
>>> ar

array([1, 2, 3, 41, dtype=intecd)
>>> print (type (ar))

<class 'numpy.ndarray'>

>>> print (ar.dtype)

inted

>>> print (ar.itemsize)

8

>>>
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NumPy Arrays 9T & <
2. fromiter() FT IIT L& ndarray ST -

fromiter() function I THT Fgq FTWL ATIAT gIdT & o1a o1q fHET non-
numeric sequence ¥ ndarray €T =184 ¢ |

numpy. fromiter (<iterable sequence name>,<target data type>,[<count>])

>>> gd={1:"A",2:"B",3:"C",4:"D",5:"E"}
>>> ar2=np.fromiter (ad,dtype=np.1nt32)
>>> print (ar2)

(1 2 3 4 5]

>>> arZ.dtype

dtype ("1nt32")

>>> arZ2.ltemsize

4
>>> print (ar2[0],ar2([3])
1 4

Holld $1GITRAT, dho fdo IRIEHT
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NumPy Arrays &l S99 & d<ie
3. arange( ) ¥ range T array dIT< (3T STaT ¢ |

>>> 1mport numpy as np
>>> arrl=np.arange (5) [T RE T RIRIE:]
>>> arrl $r g |

array ([0, 1, 2, 3, 471)

>>> import numpy as np

>>> arrZ=np.arange(l,7,2,dtype=np.float32) Iﬁﬁ 1;@-7 deh 2- 2 %
>>> arr2 3ﬁﬁT
array([1l., 3., 5.1, dtype=float32) i

4. linspace( ) ¥ range T array T (3T STaT ¢ |

Jel 2 & 3 o oId hl 6 values T array

>>> 1mport numpy 25 np

>>> arr3 = np.linspace (2, 3,06) g |
>>> arr3

array([2. , 2.2, 2.4, 2.6, 2.8, 3. 1)

>>> import numpy as np

-
>>> arr4 = np.linspace(2.5,5,8) gal 2.5" 5d% 8values &l array daT |
>>»> arrd
array([2.5 , 2.85714286, 3.21428571, 3.57142857, 3.92857143,

4.28571429, 4.64285714, 5. 1)

Hollg HSIRAT, o Tdo SRIHT



2D NumPy Arrays

>>> 1mport numpy as np
>>> A=np.array([[10,11,12,13]1,[21,22,23,24]1])

>>> A1, 3]
24 T Array ¥ elemets
>>> A[1] [3]/ T index F g1

54 access FTAT

>>> A o

array([[10, 11, 12, 13], Array &7 print
[21, 22, 23, 24]]) AT |

>>> print (A)<—
[[10 11 12 13]
[21 22 23 24]] Array =T ST
>>> type (B), type (al) < <@
(<class '"numpy.ndarray'>, <class "numpy.ndarray'>)

>>> al.shape
<
(4,) Array @t gqTae

<@ (fafere

>>> A.shape <«
(2, 4)

>>> A.ltemsize S ————————EE———————_
4 NumPy arrays &I ndarray #T %gd & (n-dimentional array)

THeFST T TAT)

Toild $1CIRAT, Fo o IRISHT



2D NumPy Arrays

2. arange() T TTIT %k 2D array T4 -

S 29 1D ndarrays &1 arange() function = | S|TAT AT 3t IHT TH1L 2H

2D ndarrays &1 |t arange() function & s9T Thd & 9T § g8 reshape()

function =T AT HTAT FIIT.

<ndarray>.reshape(<shape tuple>)

>>> arl=np.arange (10)

>>> arl

array ([0, 1, 2, 3, 4, 5, 6, 7, 8, 9])
>>> ar3=arl.reshape (5, 2)

>>> ar3

array ([ [0,

e |

e |
e |

e |
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e |
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] ] ] b o]
e |

S |
e
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3. ARRAYS d9T & 3T methods

a. empty() function T TIT F<eh-

empty() function T TTRT FLh empty array a1 specified
shape =¥ dtype #T unintialized array SHTAT ST ThaT 2.

numpy.empty(Shape,[dtype=<datatype>,] [ order = ‘C’ or ‘F’]

TVI%T :dtype: % python =T data type St=aT numpy & ST initial values =t set
FLATE |

Shape: dimension ¢ |

Order : ‘C’ &1 Hdd data &1 row wise arrangement (C means C like).

Order : ‘F’ &1 Hd<1d data &1 row wise arrangement ( F means Fortran like)

>>> arrl=np.empty([2,3],dtype=np.inté4, order='C")
>>> arrl
array([[0, 0, 0],

[0, 0, 0]]1, dtype=inte4)

Toitld HGIRAT, o fdo FRTET



b. zeros() function T TATT HFIH -

numpy.zeros (Shape,[dtype=<datatype>,] [ order = ‘C’ or ‘F’])

>>> ar3=np.zeros([2,3],dtype=np.1nt64,order="F")
>>> ar3
array([[0, 0, O],

[0, 0, 0]], dtype=int6d)

c. ones() function &T TATIT FIP -

numpy.ones(Shape,[dtype=<datatype>,] [ order = ‘C’ or ‘F’])

>>> ard=np.ones([2,3],dtype=np.float32)
>>> ard
array([[1., 1.,

(1., 1., ], dtype=float32)

Tofld HeIRET, dho fdo SRS



Array Slicing-
NumPy arrays & ZHaT subset M= % 1T slices T T list &t AT FT
T 3 |

<Arrayname>[<start>:<stop>:<step>]

« ST <start><stop> FTAT <step> values &I T AT AT gr a8 Python
default values &1 [F=d; T |

Start=0; Stop=dimension size ;Step=1

>>> arr=np.arrav([2,4,6,8,10,12,14,16])
>>> arxr[3:7]

array ([ 8, 10, 12, 1417)

>>> arr|[:5]

array ([ 2, 4, G, 8, 101)

>>> arr[4:]

array ([10, 12, 14, 1&])

>>> arr[:—1]

arravy ([ 2, 4, G, 8, 10, 12, 141)
>>> arxr|[:—3]

array ([ 2, 4, G, 8, 101)

>>> arr[2:7:2]

array ([ 6, 10, 141)

>>> |

Toitld HGIRAT, o fdo FRTET



Numpy Arrays =1 STTEAT 4T concatinate FIAT-

&1 AT SATee 3T ndarrays &1 join T¥aT concatenate ¥ @ folQ
python 9% functions Y& FZAT & -
1. hstack() and vstack()

2. concatenate()
existing arrays horizontally sr=aT vertically ST -

T T 919 2 array & - 1 4 9 3 6 5 7 2

ar 3T+ pass horizontally array STIE+ @ a1 UHT array 919 ST -

Horizontally - 1 4 9 3 6 5 7 2

4T vertically TET Y19 g1 -

1 4 9 3
6 5 7 2

o 1T 3T hstack() function 3fT vstack () function T ST ¥ T&d ¢ |

Holld $1GITRAT, dho fdo IRIEHT



Syntax-
Numpy.hstack(<tuple containing names of 1D arrays to be stacked>)

Numpy.vstack(<tuple containing names of 1D arrays to be stacked>)

>>> arr[2:7:2]

array ([ 6, 10, 147)

>>> listl=[1,2,3,4,5]

>>> list2=[6,7,8,9,10]

>>> al=np.array(listl)

>>> al

arrav ([1, 2, 3, 4, 51]1)

>>> aZ2=np.array(list?2)

>>> a2

arrav ([ 6, 7, 8, 9, 101)
>>> Jolnl=np.hstack(al, a?)

>>> joinl
array ([ 1, 2, 3, 4, 5, 6, T, 8, 9, 101)
>>> joln2=np.vstack((al,aZ2))
>>> J0oln2
array (L[l 1, 2, 3, 4, 53],
[ 6, 7, 8, 9, 1011)

T5! operations 2D arrays 9% HT T ST Thd & .
Toitld HGIRAT, o fdo FRTET



EXISTING ARRAYS #I CONCATENATE() 3 ST & ST —

=9 function T TTRT ®<h 3T NumPy arrays &1 axis 0(rows) or axis
1(column) & STIHTE TS Tl & .

numpy.concatenate((<tuple of arrays to be joined>),[axis=<n>])
S

-Axis argument Ig TATAT g sl ATTHRT ThE axis o AL AT ¢ |
TS 0 IS AT I AT axisis &1 0 JTF AT SITAT § AT rows & S|
ST ST aTeT arrays 9THTE shape # i€ AT i.e.-

« 7fT axis 0 g dr shape &I column dimension & |1 HA GTHET AT |

« IfT axis 1 g @l shape &I rows dimension = T § GTAT AT T |

Holld $1GITRAT, dho fdo IRIEHT



>>> gl=np.arravy(l1l,2,3,4,5,6,7,8,9]) .reshape (3, 3)
>>> al
array ([ [1, 2, 31,

(4, 5, o©l,

L7, 8, 911)
>>> aZ=np.array([1,2,3,4,5,6]) .reshape (2, 3)
>>> aZ
array ([ [1, 2, 31,

(4, >, ©l1)
>>> ald3=np.array([1l,2,3,4,5,6]) .reshape(3,2)
>>> a3
array ([L[1, 2],

[3, 41,
[5, ©11) >>> ad=np.arravy([1l,2,3]) .reshape(3,1)
T >>> ad
9 feU U arrays T 3@ array ([[1],
a1l &1 shape (3,3). 21,
a2 &1 shape(2,3) [311)
a3 &1 shape(3,2)
a4 =T shape(3,1)

Toitld HGIRAT, o fdo FRTET



>>> Jl=np.concatenate((al,a?2),axis=0)

>>> 71

array ([ [1,
14,

31,
o],
L7, 91,
| (1, 2, 31,
(4, 5, ©]1])
>>> J2=np.concatenate((al,a3d),axis=1)
>>> G2
arravy([[1, 2, 3, 1, 2],
(4, 5, 6, 3, 4],
7, 8, 9, 5, 6]1])
>>> J3=np.concatenate((al,ad),axis=1)
>>> 93
arravy ([[1, 2, 3, 1],
(4, 5>, 6, 2],
7, 8, 9, 311)

e |

e |

M O N
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ARRAYS % subset fAsmaAT (Slicing)-

Subsets, contiguous 3T non-contiguous 21 T&hd & |.

N NN N

a. Contiguous Subsets @I &= & fofd NumPy Arrays
T split AT

b. NumPy %= functions &= &<ar g st& split(), hpslit(), vsplit() =T 733
T subset fA=Ter ST @5 8 . Syntax @ -

numpy.hsplit(<array>,<n>)

numpy.vsplit(<array>,<n>)

SELE
<array> NumPy array g 3T <n> number of sections/subsets g fS# array
&1 A<k (divide)FEAT ¢ |

<n> & U o/ FT ST AT U dTieh <array> FT 9T [GHTST gl Teh 74T T
error 3T |

Hollg HeIRAT, Fo o TRIEHT



>>> ary=np.arange (24.0) .reshape (4, 6)
>>> ary

array((r 0., 1., 2., 3., 4., 5.]1,
[ 6., 7., 8., 9., 10., 11.],
(2., 13., 14., 15., 1le., 17.1,
(18., 19., 20., 21., 22., 23.11)

>>> np.hsplit(ary,?2)
[array ([[ O., 1., 2.1,
[ 6., 7., 8.]

[12., 13., 14.]

[18., 19., 20.]

[ 9., 10., 11.]

]

]

e |

] ™

), arrav([[ 3., 4., 5.1,

e |

[15., 16., 17.

r
[21., 22., 23.11)1]
>>> np.vsplit(ary,2)
larray([[ 0., 1., 2., 3., 4., ©5.],
[ 6., 7., 8., 9., 10., 11.1]1), array([[12., 13., 14., 15., le., 17.],
[18., 19., 20., 21., 22., 23.]11)]

s |

Hollg HeIRAT, Fo o TRIEHT



b. split() function T T -

numpy.split(<array>,<n>|<1D array>, [axis=0])

e <array> Numpy array & fSraet split foFaT ST 2 .

. I 2%“0' arugument <n> g , T <array> &I <n> equal subarrays ¥ fa«riera T
ST 2 |

e Ifa 20 argument <n> 3T axis=0 g , T Tg vsplit() FT T8 FTT FHLAT g 3T
axis=1g qT 7g hsplit() T Tg F1T FLaT ¢ |

« Ifd 2nd argument 1D array g a9 <array> ST subarrays ¥ split il & |

- axis argument, optional grar 34T 3w 7fe Fre kAT MU qr 78 value 0 waT g

raTd horizontal axis 9% | axis=1, & o7 split, vertical axis 9X AT |

>>> arld=[10,11,12,13,14,15,16,17,18,19]
>>> np.split(arld, [2, 6]k 0:2, 2:6, 6
larray([10, 11]), array([12, 13, 14, 15]), array([le, 17, 18, 19])]
>O>

feT 31T argument 2,6 & array & into 3 slices § TAHTTad T § ie. 0:2, 2:6
and 6:

Toitld HGIRAT, o fdo FRTET



>>> ary=np.arange (24.0) .reshape (4, 6)
>>> ary
array([[ 0., 1., 2., 3., 4., 5.],
[6-r 7-: 8-: 9-: 10-: 11-]:
112., 13., 14., 15., le., 17.1,
[16., 19., 20., 21., 22., 23.]]) divided as 0:1, 1:4,,,4: horizontally
>>> np.split(ary, [1,4])< (axis=0 because skipped)
larray([[0., 1., 2., 3., 4., 5.]11), array([[ 6., /., 6., 9., 10., 11.],
112., 13., 14., 15., le., 17.],
[18., 19., 20., 21., 22., 23.]]), array([], shape=(0, 6), dtype=floated)]

>>> np.split(ary, [2,5],axis=L) divided as 0:2, 2:5,
larray([[ 0., 1.], 5: vertically (axis=1)
[ 6., T.],

[12., 13.],

[18., 19.11), array([[ 2., 3., 4.],
[ 8., 9., 10.],

[14., 15., 16.],

[20., 21., 22.]]), array([[ 5.],
[11.1,

[17.1,

[23.]1])]
Tollg iR, Fo fdo IRTEEH



Condition based Non-Contiguous Subsets &I fRsTeT
8 forT extract() function ST {97 SITAT 2§ as per the syntax-

numpy.extract (<condition>,<array>)

extract() function ¥Ieg T T array F elements T 1D array & &9 # return
FLAT g ST <condition> & criteria s T AT & |

Condition a4 -
T# 2D ndarray #T subset @IS+ & o7 ST 5 & X1 a8 & fasirs g, av e

fera T gr- condjtion=no.mod(ary,5)==
>>> ary
array([[ 0., 1., 2., 3., 4., O5.],
[ 6., 7., 8., 9., 10., 11.],
[12., 13., 14., 15., 16., 17.],
>>> cond=np.mod (ary, >)== [18., 19., 20., 21., 22., 23.]])

>>> cond

array([[ True, False, False, False, False, True],
[False, False, False, False, True, False],
[False, False, False, True, False, False],
[False, False, True, False, False, False]])

Toitld HGIRAT, o fdo FRTET



Ndarray % ferg faferr functions STt numpy # Iu<rsy §

sin(), cos(), tan() 3T 3= FRIOTHG T 919 [Mehere & o S sin(x) SATe

function
around(x) round F¥aT g a0 T T9weT T dH
rint(x) round FTAT g TAalehl TU HEAT T
fix(x) round FXAT & TeTalehl 0T AT T T i T
floor(x) Floor value =a1 8
ceil(x) Ceiling d=7 =ar @
trunc(x) Truncated 3% J&T9 FAT ¢ |
log 10(x) Log base 10 J&T9 FXAT g

THI ThTT % &< functions T&T9 T3 SITd g numpy = 31T |

Hollg HeIRAT, FHo To FRISHT



2D arrays 9¥ Arithmetic operations -

a. Using operators-
<ndarray1> + <n>|<ndarray2>
<ndarray1> - <n>|<ndarray2>
<ndarray1> * <n>|<ndarray2>
<ndarray1>/ <n>|<ndarray2>
<ndarray1> % <n>|<ndarray2>

b. Using NumPy Functions-
Numpy.add (<ndarray1>,<n>|<ndarray2>)
Numpy.subtract (<ndarray1>,<n>|<ndarray2>)
Numpy.multiply (<ndarray1>,<n>|<ndarray2>)
Numpy.divide (<ndarray1>,<n>|<ndarray2>)
Numpy.mod (<ndarray1>,<n>|<ndarray2>)
Numpy.remainder (<ndarray1>,<n>|<ndarray2>)

Toitld HGIRAT, o fdo FRTET



>>> ary+1l.5

array([[ 1.5, 2.9, 3.5, 4
[ 7.5, 8.5, 9.5, 10.
[13.5, 14.5, 15.5, 16.
[19.5, 20.5, 21.5, 22.

>>> new=ary+2.1

>>> ary+new

array ([[ 2.1, 4.1, 6.1,
(14.1, 1e.1, 18.1, 20.
(26.1, 28.1, 30.1, 32.
(386.1, 40.1, 42.1, 44.

>>> np.multiply (ary, 3)

array([[ 0., 3., 6., 9.
18., 21., 24., 27.
36., 39., 42., 45.
54., 57., 0., 63.

8.

SRS S RSy

e |

.y
n 1 1 O

|

e |

e |

==
b ]

12.,
30.,
48.,
66.,

Hollg HeIRAT, FHo To FRISHT

11.
17.
23.

10.
22.
, 34,
1, 4o.

|

e |

e |

b |

= = e
L . |

15.
33.
ol.
09.

12
18
24

12.
24.

36
48

o1y
o1y
o1y
.011)

11,
11,
1],
L1T1)



NumPy Arrays 9T Applications -

1. Covariance- sz (Covariance) ¥ & @est o= 72 & & =8
Farar g & a1 Sa@e 7 9T BId gl 2 SeM™e & o919 US 3¢ HR(IcH
ggaars® (High Positive Covariance) &1 319 g f& o a7ga ggar & 919 &
THT 98, 2 S<MC & &9 U 3Ig JhHs ggadw (High Negative
Covariance) & 319 g [ 9 aga 9+ &

numpy.cov(<arr1> , <arr2>)

>>> a=np.array([1,2,3,4,5])
>>> b=np.array([3,4,0,-1,-3])
>>> check=np.cov(a,b)

>>> check §//////////// Nedat | o
array ([[ 2.5 , -4.95], egative values Ig
-4.25, 8317y | eRATEETRE]

outout TF 2X2 matrix & , 5T [Aaad a1 & -
Check/[0][0O]=var(a)
Check/[0][1]=covariance(a,b)
Check[1][0]=covariance(b,a)=covariance(a,b)
Check[1][1]=var(b)

Holld $1GITRAT, dho fdo IRIEHT



2. Correlation- a=gsg (Correlation) H&r =7 & Hzaas% (Covariance)
gl T & A <ar &: 1 T(T 37 " § TRIcHsh dgadisrh oY -1 g I SerHe |

TR TS |
np.corrcoef(<arrayl>, <array2>)

>>> corr=np.corrcoef (a,b)

>>> COrr
array([[ 1. , —0.93299621],

[-0.93299621, 1. 11)

Toitld HGIRAT, o fdo FRTET
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. . g AT fg U grm oy didives a1 & @ = forg siueit v & wawr gidt
S e & 5 T EER R A G # e Ger ek | w8 gs o
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Y11 Y FIgH/Class - v

IuTs BT | F% & weitg Hgiear (ft st & Fogex wrEw) Fo o armES
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